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No blackhole and no atomic bomb PHILIP SHIN — Title:
c=c(1+1=2) The light speed 14+1=2. So we count the number by step by step
for one point. When we count the number by one point, we use the number writ-
ten on the paper. This means this is not number, but the graph and line. The
light speed is the truth in physics. I can prove it by number. 10%=0.1 As %=kg
So 10kg=0.1 kg=1/10 x 1/10 kg=1/100 And 100%=1 So kg=100%/100 kg=% So
1kg=1%=1/100 E=mc? So cx kgx m?/sec?= 1kgx cx m?/sec? cx 1/100x m? /sec’=
1/100x cx m?/sec? So ¢/100=c/100 So c=c And c is the truth never changed. Title:
By faith, no blackhole As to be, we glory to God and that is basic theology for chris-
tian. And I want to say that BE means just thinking. There is no clue of nature
and no proposition to prove it. I just believe by feeling and emotion. I trust that it
can be the physic really. There are only human beings and there is no idol that is
different existence from human beings, that is true to be. So the nature we see is
zero and we, human beings make the zero nature as from no start and no ending.
No alpha and omega mean we are idol and that there is no blackhole. Blackhole
means the block is existing in the nothing(as we are no alpha and no omega). So
the block cannot be existence. So if there is blackhole, then there must be the wall
to block me and never walk again. The big bang and evolution mean they are no
alpha and no omega and existing by themselves. So they could be existence, but
big bang and evolution are just logical fact to be. We need faith as God give us the
direction into our spirit.
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